MAT 012 Take-home Quiz 3: ch 7.4,ch 7.5 Name:

SHOW ALL WORK Section:
1. Given ot
x-5 x-—4
a) Give the LCD
(x=5)(x-%)
b) Perform the operation and simplify.
5 (x-4) ¢(x—5) Six-4) =H4(x~5)
(X—5)(x-4) (-5 ) %) 5 (x=S) (x—u)
Sx —20 —4x + 20 X
(x-§)x—4) (x- S)x~—4)
2. Given _

+
x*-9 2x+6
a) Rewrite the entire expression with factored denominators.
&3 &
-+
(e x-3)  2(xX+3

b) Give the LCD

2(x+3)x=3

¢) Perform the operation and simplify. [Hint: Affer combining, factor the numerator and
cancel to simplify further.]
20 4+ S(x=3)

2 15 - S'(x-—S) -
2 (x+3)(%-3) 2(x«3)(%—2 2 ix +3)(x=3)
20+ §x —15 B Sx +tS _ S'(g,x—{) ; 5

B 2 +3)(x-3) T 2Uxe3)(x-D) 2( ¢ A€3) (x-32) 2 (x -3)
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2
3. Given 2x = = = 22x
x"—4 x+2 x -4

a) Rewrite the entire equation, but factor the denominators, which need to be factored.

%z 2 2.ne

(x+2)ls-2) X+2  (x+2)x~-2)

b) Give the values of x for which the equation is not defined.
X#+-2, w +2

¢) Give the LCD
(x+2)lx~-2)

d) Solve the equation. [Don’t forget to check if your solutions “candidates” are actual solutions]

y & 23(x—12)

( x+2)(x-2) - (x+2)x~2) (x+2)(x~2)

2 =

&
X —2WWx~2) =2 x

P

r
X =2 + & = 7 x

— 2 % -2 x
z
¥ =S gph =06
(x—L)(x-B) = O
X?’:Z o _)4::3
i =
Pyhreneru s
Jo e bon

¢) State the answer(s)

X=3 |
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